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For if he wanted, he could deliver her to an ugly or leprous person

Overview
The X773 explains that it is logical that the 2391 nw12 belong to the father since he had
the option of marrying her off to a 1w 7% 1. !

Mmoo responds to some anticipated difficulties:
= (W1 8,7 97) 2PWITPT NP D993 19999NTD 19399 NITND NNT 999100 NI 11 NYWYNND)

And we cannot derive (that 5™2 belongs to the father) from the fact that her
handiwork belongs to the father (even when she is a 77w1),* for the 7w1 is fed
(sustained) from her father, therefore he receives her "7 7wyn in exchange for

feeding her, as the X773 states in the first P92 of PwY7TP ndON -
=—59INY N9NT NYANT XY 9133 H119951) 1Y INRP NRNYYNT PYWITPN XD

And we (also) cannot derive that 8"2 belongs to the father, from the fact that the
PenTp oo (of a 77v1) belongs to the father, since the 1PY7P 70> comes from
elsewhere, however the "2 payment is from her own body,® so (perhaps) it should
belong to her. And we also cannot derive it from both of them (77 nwyn» and
7w17R), for the wound to her body is different —

n1voIN asks:

! The father could have received a reasonable sum of money from a Prw 7211 9117 in order to marry her, however this
0IXn caused the father a loss (because now he would receive less money, since she is devalued), therefore the "2
belongs to the father. See >"w here 211 7"7.
2 The x> there states that we cannot derive that the DU TP 703 of a 77v1 belongs to her father from the fact that the
77 nwyn of a 77v1 belongs to her father, since concerning 777> 7wyn, which is common and continual, the father relies
on it in exchange for feeding her, however he is not depending on the (one time) 1217p 701 in order to feed her.
Similarly here, he is not relying on the (one time) ™2 payment (which is uncommon) in order to feed her; he is
however relying on her 7>7 7wy»n which is row.
3 We derive that the 7 nwyn of a 77wl belongs to her father from the 0o (in 1,85 [2°vown] Mw) which states
MR 102 DX WOR 0w, teaching us that just like an 7nX (a maidservant) her 7 nwyn belong to her master, similarly
the 77 7wyn of a 77v1 belong to her father.
4 We can perhaps derive it through a mw: 7%; if we will ask that by 7 qwyn he is 71 X0, we will respond w17
> where he does not depend on it (see footnote # 2) and nevertheless it belongs to the father. If we will ask
NR R7YAT PUITRR (however by 8™2 it is from herself), we can answer 1°3v 7°7> nwyn that it is her work and nevertheless
it belongs to her father, 777 2rm the MW 7% is that it (comes from her and nevertheless it) belongs to the father, the
same should apply to ™.
5 She underwent the suffering to her body which was hurt and devalued, so she should receive the money; however
by the mw: 7% of 77 "wyn and 1w17°p, she did not suffer a 7917 772..
6 She is suffering the N2 and the 0o is the loss of her worth.

1

TosfosInEnglish.com



X7 1"7 '010 2, M12N> L7023

= PAY D91 HNMY NYTPY DI19%W NI KIN NYANY MHNT DX NV 1Y 0D NKY NINT 119N

It is astounding, for we could not have established here that 2''12 belongs to the
father, only from the fact that he can be w7p» her’ to a orw 7212 21 -

- 40 SWYITP 23 (3,97 PYITP U2 9139135 Sya 9557 19 ON)

So therefore how did the X773, in the beginning of w7 Ndon, want to say

regarding n®> SWN7P; where the Xn3 there asked -
- D39) NYIAN 4533 NIOT $3) 11 APANT PYITHDY DI HUTDINT 19 NI

‘how do we know that she is nwTyp» with n©2, and additionally how do we know
that the P@Y7TsP 101 of a 77v1 belongs to her father’. The X n3 there continues, ‘and

if you will say that we derive 1u17°p 702 belongs to the father from 5''12°, etc. The
X713 there rejects this answer. However the question is how could the X713 there even entertain the

thought that we can derive 7v17°p from 5™2 -
= $WTPY D19°YW N RON 1Y DY ND 1999 DI NYIA NN

But have we not established by 2'"12 itself that it belongs to the father, only because
he has the power to be w7p% her and keep the w1 7p o5 —

nB0IN answers:
= N7 Y27 ©7YNT NINIINT PNYY 13929 9IIN)

And the "1 says this is the manner of the X273 that it wants to reject any derivation

that 7"w17p 702 belongs to the father from ™2 -
= 79NN DIPNN NPANT N DI NVIAT YD 0P 199N

Even if we would have established from elsewhere that 5''12 belongs to the father —

nvoIn offers an alternate answer:
= 10730p DY DYDY NWIAN NIV SWITP 999127 ¥a 0NN ) ON

Or one may also say, there the X7 wanted to derive that 779w1 >w7P belongs to
the father, from 2'"12 of a 73wP (which certainly belongs to the father) —

7 This means that in order to establish the rule that "2 belongs to the father, we must first know that the 1217 703 of
a 71vi1 belongs to the father. See footnote # 1. The father could have received money for her 1217 and now he is being
deprived of the full amount he could have received. However if we are not sure whether the 12172 705 of a 7v1 belongs
to her father, there is no way for us to assume that 8"12 belongs to the father.
8 In that X7m3 we do not yet know that w17°p 703 belongs to the father; that is what we are trying to derive. How can
we derive it from 5"12, since we only know that 512 belongs to the father after we know that Pw17°p 702 belongs to the
father, and since there we do not know as of yet that 117" 703 belongs to the father, we do not know that 52 belongs
to the father, so how can we derive Pw17°p from 5™M2?!!
9 It is somewhat of a hypothetical question (and answer). The X3 there is saying even if we would know (somehow,
not from Pw17°P) that 52 belongs to the father, nevertheless we could not derive 1"w17°p from 512 as the X3 explains
it there. However truthfully the question does not even begin, since in actuality 5™2 is derived from 1w17p.
10 1t is a given that the 9™2 of a 71vp belong to her father, since anything that she owns belongs to the father. See
(however) ‘Thinking it over’.
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mooIn addresses a difficulty:!!
-0 Y MR NIV SYTPIN

And indeed we could have derived 77v1 017°p from 71up SunTopP -
- 125595 0NN 199N 1 N N NP 12 DY 1T NIVP 591 %1 NININ MNT IND ON

If not for the fact that we would have said, ‘when is this so that the 217°p belong
to the father, only by a mup who has no ‘hand’, however a 79y1 has a hand’, as

the X711 states there previously -
- MIVPT 01D NYIAN 9953 N1IIN 23) MNP 2979

So therefore the X713 can state, ‘and if you will say, we should derive it from 2'"12

of a ;11wp, since by ™2 there is no problem of 7> 77 1'%, for -
= 137590 NY NYYS (3,19 97 x0p x32) TAINNA 12999NRTD 92 1Y 5N 99NYT 2) DY 9N

Even though that regarding being paid for bodily harm (239) the 71vp has a 79, as

the Xna stated in 92757 P79, ‘he should make a 119130 for her’ from the payment -
= 11933 SWITP 9133 Y9N NPANT N 29N I2AN)

And nevertheless, even though she has a 7> regarding 11921, the ™2 belongs to the

father, the same should be by 79w1 >w7P, that even though she has a 7 the Pw1Tp 7O
belongs to her father.

mooIn speculates on a different interpretation:
= D)9 NYIAN 9990 MNPT NN PYITPN NP NDT DIWI91) 13991 DN

And if we would explain that this which the X713 asks, ‘and let us derive it from

9'"12’; it is not referring to W7 (that we can derive 771 w17°p from 5™M3) -
=997 ¥NIWN XY JAN 929V NN M1 DIYY 0NN ININRT N7 NYYNN NIN

Rather it is referring to the rule that the 37> nww» of a 771 belong to the father,
which the X711 cited there previously, and we are asking that we can derive nwyn

77 from 5™3, it would work out well; however it does not seems so, but rather the
question of 8" 77°1 0" is referring to W3 WP —

Another reason why we cannot say the 5"1an 7741 is referring to 7> nwyn -
= D)9 NWIAN 992 NN 29 YPIOND N9Y 91 193 XN 19 DNT N

And additionally if indeed that is the question, so here too the X713 should have

' We are now saying that we can derive Pw17°p of a 77w1 from 5"2 of a mwp. If that is the case, so why do we not
derive 71 w17 from 7vp "w17p, which also certainly belongs to her father, as the & 11 states there.
12 mpon is saying that intrinsically there is no difficulty in deriving a 771 from a 710p, except for the issue that a 773
has a 7> and a 71vp does not.
13 The money for wounding his minor child does not belong to the father, rather he must purchase something for his
child and hold it for them until they grow up. We see therefore that by 772an (which is what 09 is), the minor has a 7°
and nevertheless by ™2 it belongs to the father.
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concluded "% a9 n">Y -
2(3,m 97 #0993 D992 1IPY 191 NP N1 NUYNNT 10D

Since the question is referring to 717> 7wwy» (which is discussed here as well). And

similarly later in 77991 295, we will need to interpret it in the same manner as we interpreted
the X723 in PYITP.

Summary
The question 5™2n 7%°1 n"51 may be only theoretical, or it means from 5" of a 7vp.

Thinking it over
The 77921 payment of a minor belongs to the minor (79130 1% 7wy»);!° why therefore

are we certain'® that 5™2 (which is similar to 79217) belongs to the father?!”

For the student’s benefit we cite the X3 in 2,3 PWYTP.
— N33 VW2 NO52 URNTRR IN22 INDT ART JANT X7 INY 0 NI :noo2
— RW7 MANRT OO NO52 RUPIAT IR
— 102 TN 237 NI R VART 27 AN 7TV 27 NN
— 2R WO INDY MR PIRD A0 20 AN 7T PTRY 7O PN
— 77D RPN
— RDDD F7T2PR MTORY 77T WORD NN N2 DR 29NDT OVNTIP Bapn AN RNwT 90
— PRI DaPD 7Y R N7 TIUR 99 17 RIAORN
— RDD2 PIPRNY TR AN WITRN PRI 2aph 7Y 9 NINRT 101 Dan
— 9ARY 29701 7aw 9O 779N N2 OMIYIR RO NN
— AND N2 TRYRR IR 27 R RIT 27 MRT RIT RN
— 7T7ARY N2 DR WIR DR DY NI
— AR N2 IMIPIRR D PIDIN FOARD ITY TRWYN A1 N2 AN 7200 T TR AR
— 2O027 RI7 2973 NS M 9577 29057 RIT 29771 N5 KON
— 739597 R® RTIDIND K117 77919 0993 R1AIN Y
— 739597 R® ROIPA RIVA% RDIPA 0971 RN 92
79732 TR STIANT 23D NRIA NINW 2XDY NRaK n9O1 KA 0

14 The xn3 there is exactly the same X3 as in 2,3 217°p. In whichever manner we explain the X3 in Pw17°p, we will
also explain the X713 in 771 PId.
15 See footnote # 13.
16 See footnote # 10.
17 See X"wnrn and N¥2IPn T0W.
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